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ACCT 3100 R ACCT 2101, ACCT 2102
ACCT 3200 R ACCT 2101, ACCT 2102
BLAW 3400 E E
BLAW 4100 E BLAW 2200
ECON 4210 3 ECON 2105, FIN 3100
ECON 4310 ECON 2105
ECON 4530 E ECON 2105
ECON 4550 ECON 2105, ECON 2300
ENTR 3001 R ECON 1000
ENTR 4002 R ENTR 3001
ENTR 4003 R ENTR 3001
ENTR 4004 R ENTR 4002, ENTR 4003
ENTR 4122 E MGT 3100 or ENTR 3001
ACCT 2101, ACCT 2102, ECON 21
FIN 3100 R ECON 2105, (ECON 2300 or STAT 1
IS 3100 E R IS 2200
IS 3260 R IS 2200
IS 4540 E STAT 1401
ISA 3100 E R
ISA 3200 R ISA 3100
ISA 3210 R
ISA 3330 E
ISA 3400 R ISA 3100
MGT3100 E E R E E E E R R
MGT 3200 R ECON 2300
MGT 4001 R MGT 3100
MGT 4800 R MGT 3200
MGT 4850 R MGT 3200
MGT 4860 R MGT 3200
MGT 4880 R MGT 3200
MKTG 3100 E R E E E R R R R R R R R R
MKTG 3150 R MKTG 3100
MKTG 3410 R R MKTG 3100
MKTG 4300 R MKTG 3100
MKTG 4350 R MKTG 3100
MKTG 4450 R R MKTG 3410
MKTG 4460 R MKTG 3100
MKTG 4520 R R MKTG 3100

MKTG 4650 R R
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